Cutting the Christmas Tree Down to Size
STAT ENTER

Input the following values into L1 and L2. Take your time entering them. Make sure you don’t skip one by mistake or enter too many.  Use DEL to delete a number if you make a mistake.
	x (L1)
	y (L2)
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2nd Y=

Turn the plot ON.  Use the line graph.
WINDOW

Make sure the window is set properly so you can see the tree. 


Xmin=-5
Xmax=30

Xscl=1

Ymin=-5
Ymax=30

Yscl=1

Xres=1
GRAPH

STAT ENTER

Now decide how to reduce the size of the tree by ½. 
Use a formula for L3 to multiply the L1 values by.____
Use a formula for L4 to multiply the L2 values by._____
Turn the graph of Plot 2 on using STATPLOT. Choose the line plot and change the Xlist to L3 and the Ylist to L4.

Graph.  Did you reduce the size of your tree by ½?
Next- Decide how to make the  tree tall and narrow.  Write down the procedure.  
Next- Decide how to make the tree short and wide.  Write down the procedure.  
